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QID : 751 - According to Erik Erikson's Stages of Psychosocial Development, which one of the
following basic virtues does an individual acquire during the adolescent years upon successful
completion of the stage?

AR 9ARART IR SRI4 994 AQAIER, FEFINET ATH NI A°Yd 629IA6Q 16T Q1aF AIYER
AIRYO FRIQ 69 601RR qEIgEq 62QHIg FRara?

Options:

1) Competency
LA

2) Fidelity

Ay g& Fal

3) Purpose
QEWS

4) Wisdom
98ael

Correct Answer: 2) Fidelity
QY 9o Qal

Candidate Answer: 3) Purpose
QEWS

QID : 752 - In Jean Piaget's theory of cognitive development, Concrete operational stage
corresponds to ages:

a3 d2Ieeq & ARAR a1 ARIBEQ, 2R AITIATNIL ad QO ATG 691R HIRAIN |
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Options:

1) 510 9 years
599ad
2)2to 7 years
2Q7Q9

3) 7 to 11 years
7Q11ad

4) 12 to 18 years
12 @ 18 @d

Correct Answer: 3) 7to 11 years
7Q11qd

Candidate Answer: 4) 12 to 18 years
12 @ 18 Q¥

QID : 753 - Jean Piaget's theory of cognitive development suggests that children move through
different stages of mental development.

ARAEER AIRAR SRITR FER 0 6QQ AT FR2E 691N &] TS & ARIR GRl8 IR
QdIReIg?

Options:

1) three
oa

2) four
QIR

3) five
alg

4) six
22

Correct Answer: 2) four
QIR

Candidate Answer: 2) four
QI

QID : 754 - Who among the following disagreed with the idea that intelligence was a fixed trait,
and regarded cognitive development as a process which occurs due to biological maturation and
interaction with the environment?

FOIRNYE ARIQ @ FAIGI IR I AVS! 6T 6QIM AAFE g6 IQ° ARIAR FRIF U@ JFAl QIQEQ QL
6600 ARAQEl Ye° AG694 TG AR AIRIQ AT 6RIRN @E8R?
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Options:

1) Sigmund Freud
dAg Fae

2) Erik Erikson
AR 1AQ9]

3) Jean Piaget
@Q 2609

4) B. F. Skinner
Q.M4%.20Q

Correct Answer: 3) Jean Piaget
@Q J26a9

Candidate Answer: 2) Erik Erikson
QR QAR

QID : 755 - Language, religion, custom, tradition etc. form a part of which one of the following?
QIS AF, AYE, AR RRUIG AR 6B FUIQ RE A& @RAIG?
Options:

1) Social environment
AAITS 964

2) Natural environment
J19oe 9964

3) Nature

gqe

4) Heredity

Q°IGGe

Correct Answer: 1) Social environment
AT AR6R4

Candidate Answer: 1) Social environment
AAIGR AR64

QID : 756 - Why should the teacher have the knowledge of heredity and environment of his/her
students?

264 JYRTQ 2°9Ig9¢ G OIF FIPRIFIFA IAERE FUACA BIR QYR AR 2SEUR?
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Options:

1) so that the teacher knows the achievement potentials of the student

QIFFIAR 90 INTQ VG ARRIQ FISARE

2) so that the teacher knows the spending abilities of the student

Q2GR FP TNT 6060 ATV 6QRAIRER FISAIRER

3) so that the teacher knows the varying needs and abilities of the children

QAIRIFIRIR d9e ARITA Gan 9IEal G ARLiel FaA6a FITAIRER

4) so that the teacher can decide whether he will be suitably compensated by the child's parents
AIQIgIAR d9e dREg deIFIeIE FIl O] RI6R 2IIARI ARG @ QIF el e @R

Correct Answer: 3) so that the teacher knows the varying needs and abilities of the children
QIZIFIAE d9e IRTA 36 CIFal 8 ANIG FAAER FISAIRER

Candidate Answer: 1) so that the teacher knows the achievement potentials of the student
QIFIFIAR 96 INTQ VG ARLRIQ FISARE

QID : 757 - Who among the following was the first psychologist to make a systematic study of
cognitive development?

FIRYS FRIQ 606 AERITRIGT J2I6F ARIAR FRIFQ IR QIQTE ARIAS RGY6R?
Options:

1) Sigmund Freud
dong gNe

2) Erik Erikson
QR QAR

3) Jean Piaget
oq JeIees

4) B. F. Skinner
Q.4%.20Q

Correct Answer: 3) Jean Piaget
@Q d26e

Candidate Answer: 1) Sigmund Freud
JA0E e

QID : 758 - Which one of the following helps the teacher provide better learning environment in
the school?

YMEQ FRRG FANYE FRIQ K4l IR FJENR AAERE IR KARIEQ ARILG! @Q2IN?
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Options:

1) knowledge of parents' income

ORI 2P AAEQ RIS

2) knowledge of students' heredity and environment

FIGQ °F IQ° ARERE AU6R RIQ

3) description of each student's height and weight

J6RUR B9Q ARSI IQ° 3R FAQ4!

4) Knowledge of where each student lives and the number of rooms in his/her house
gesia g1Q 6220169 \I8° 6R6IT 6R10Q! 2Rl JEQ 641164 9@@

Correct Answer: 2) knowledge of students' heredity and environment
I0Q °8 IS° J6RE AA6R RIQ

Candidate Answer: 2) knowledge of students' heredity and environment
FI0Q °8 IS° JR6RE QA6 RIQ

QID : 759 - To Piaget, cognitive development was a progressive reorganization of
as a result of biological maturation and environmental experience.

JRIeeee F196Q, 6350 JAURE! Y9° JGeQd AL AQRGA AASIALQA AR T8 Q
R gaGeIe gReion amI?

Options:

1) innate abilities

@QIC JLC!

2) cognitive skills
QARIAR 66

3) mental processes
ARd@ 9ol

4) socially-learned skills
AAIRQ FHeII 6RlSR

Correct Answer: 3) mental processes
Aieda ggl

Candidate Answer: 4) socially-learned skills
AAIRQ TR 6RISR

QID : 760 - Which one of the following is NOT a stage of Cognitive Development as proposed by
Piaget?

FIRYG FRIQ ARIAR FRIHQ 629 998 TEFT & TV IS FRAUAIRRYRI?
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Options:

1) sensorimotor
6963IN6COQ

2) preoperational
J2ACQARIN

3) concrete operational
AFQ AACQARIR

4) informal social
QRTAIR 62F2ARN

Correct Answer: 4) informal social
QRAFIR 6QF2IN

Candidate Answer: 1) sensorimotor
64963I6¢OQ

QID : 761 - ensures that pedagogical approaches meet the educational needs of
each and every learner including learners learning with different paces and the learners with
special educational needs group.

N2l ghdle Q2N 64 SR8 QRERIGER J6Re FRew JRl AIRaIRaIgeq gl @telN,
60626Q Fan 6060 YRR FBe e F68S I ARSI el TR 69T 284S |

Options:

1) Affirmative action
AR RIIGRIQ

2) Social learning
AATR S

3) Inclusive education
QAT aal

4) Discovery learning
AVNRRR S

Correct Answer: 3) Inclusive education
QARG S

Candidate Answer: 3) Inclusive education
QARG S

QID : 762 - is the memorization of information based on repetition.

6208 gAQI9R ARIAER YoTI 908 Kaal |
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Options:

1) Meaningful learning
2294

2) Rote learning

g @Gl a3l

3) Social learning
AT S

4) Imitative learning
AQRQEL Sl

Correct Answer: 2) Rote learning
788 *QQ! SRl

Candidate Answer: 3) Social learning
AATR S

QID : 763 - According to the The National Curriculum Framework 2005, which of these is the
characteristics of inclusive education?

FI910 AUCIFE AR (FUIAFIN QA 6T71ER) 2005 AQQIER, IYFR FUIQ @8 AFRE FAIQ 9@ 6398
2667?

Options:

1) Make provisions - not restrictions adjust to the needs of the child
AI9Q8 GRIR RAQ-20R4I g64-INTA 2IRFIRS! AR IS aGS!
2) Use a white board wherever possible

699016@ AAR IR AR 691 IR FAL!

3) Use audio-visual media in all schools

AL YMER AGB-Ggeim G2 QILEIR @S

4) Make mid-day meals in school campus

M 90AR6R FiQ-69 AN g6 @aQ

Correct Answer: 1) Make provisions - not restrictions adjust to the needs of the child
1928 2R FAU-ACRE 262:TNTA 2IRIAG! AGAIER VTS KG!

Candidate Answer: 4) Make mid-day meals in school campus
Ym AAAR6ER F1@-6@ Fnd dge *aa!

QID : 764 - Robert Kegan developed a theoretical framework that posited levels of
meaning-making

Q9% 62017 IR FIRR QIEIa GRI8 @ageR ALl 28 AAld ¢ 2Q gge adeld |
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Options:

1) two
a8

2) three
P6aIG
3) four
QUG
4) five
QLG

Correct Answer: 4) five
aIEs

Candidate Answer: 3) four

QIS

QID : 765 - Inclusive education is committed to physical, social and attitudinal
barriers.

QARG Gl SIQ10@, AFIFR IS QLR AYVIL QRIGER 96 JGgTeR 26T |
Options:

1) enhancing
QIGQI

2) multiplying
Qi 98 @Gl
3) reducing
A K}

4) ignoring
21693 @Qa!

Correct Answer: 3) reducing
QU K}

Candidate Answer: 2) multiplying
Q34 Q& QA<

QID : 766 - Which one of these schools of thought is associated with the concept of "learning as
meaning-making"?

NgER RIQ 626 SRR "A-G¢I¢ I6R FRI " QReRd ATG A°YE A@F?
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Options:

1) Constructivist
qoaqee

2) Cognitivist
EARISB A°FIR10
3) Behaviourist
LI A1k
4) Gestaltist
ORI

Correct Answer: 1) Constructivist
Slelziglale)

Candidate Answer: 2) Cognitivist
EQRISS A°QIR1

QID : 767 - Which of the following can a teacher use to address the learning needs of her visually
impaired students?

@64 S9@ 599 QAR BIgF ALIRG! gAI KR! IR FIRGS AU A8 QISTIQ FGAIRER?
Options:

1) Hearing aids

TR 9@

2) Braille equipments
6QM1 LUNXAS

3) Visual boards
2R 6916

4) Assisted reading
21d6qQ aG°

Correct Answer: 2) Braille equipments
691 RURIAE

Candidate Answer: 1) Hearing aids
TR 9@

QID : 768 - Physical inclusion includes which one of the following?

A0S AFRFER FINYS FIQ A6 ASHS QF2AN?
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Options:

1) infrastructure and resources
QORI U9 ARG

2) social groups

AAGR 691F1

3) cultural groups

ArYGR 6alIN1

4) racial groups

SIE9e 69181

Correct Answer: 1) infrastructure and resources
QORI I AYRYER

Candidate Answer: 1) infrastructure and resources
QORI U9 ARG

QID : 769 - According to whom "every function in the child’s cultural development appears twice
first, on the social level, and later, on the individual level, first, between people (interpsychological)
and then inside the child (intrapsychological)’?

Q12! AGAER "TRIAINGT A°YoR TR J6SUR QY 9RAQ 6QHAIRAN : gaIFl, ACITR IR6Q, IS° U6Q
QUITCIG YA6Q ; JAIEE QRRE B F1IEA (RLAARERIERIFRIN) I° A6Q TRIT VSR
(QYARERCRTRIN)"?

Options:

1) Lev Vygotsky

6RQ ARG,

2) David Premack

6R0R 699IR

3) Josef Perner and Heinz Wimmer
69169 99Q 99° 2R GAQ

4) E.L. Thorndike

Q.M 62186@

Correct Answer: 1) Lev Vygotsky
6RQ ARG,

Candidate Answer: 3) Josef Perner and Heinz Wimmer
69164 UAQ 9G° A GIQ

QID : 770 - holds that people try to determine why people do what they do,
that is, interpret causes to an event or behavior.

2l 922N 60 6RINFIEE 2l FRIGE FRRIQ 698 KGR 64 I2Iq 627ER FITD
QQaIZ, AILIQ 66T QS8 @l AL FIQEQ IS *QIAIREAN |
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Options:

1) Classical conditioning
QAR *EAGe

2) Attribution theory
EQuQq selIQN

3) Experiential learning
IPEAT6ANIR RUG°

4) Operant Conditioning
&6dQIe @EQAT°

Correct Answer: 2) Attribution theory
GQyag caliat

Candidate Answer: 2) Attribution theory
gquag caliat

QID : 771 - Who classified domains of human learning into three parts — cognitive, affective and
psychomotor as educational objectives?

SI91 QEXE QA IS Y FRTG TERIT QTR & FAB FAYEN-VILIF LFIAR, ASAYR 1&°
F6R15621?

Options:

1) Benjamin S. Bloom
62&nIAR 1 Al

2) David R. Krathwohl
60%Q Qlein

3) Lorin W. Anderson
6RIAR GQY IFAR

4) Norman L. Webb
AIQ IR, 64

Correct Answer: 1) Benjamin S. Bloom
69&NIAR 1 9F

Candidate Answer: 2) David R. Krathwohl
620R QIeain

QID : 772 - In which learning process are learners actively involved in the teaching-learning
process?

J91-5691 9FAIQ 609 9FI6a JaIch AGH QU6 A°YS ARLUG?

11/71
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Options:

1) process-centred approach
Jaal-6agie 986l

2) content-centred approach
AYQg-6a51e Q614

3) learner-centred approach

Jald-6ag1e Q86ld

4) teacher-centred approach
J9R-6@91e QTE6RIS

Correct Answer: 3) learner-centred approach
JRId-6aR1e Q86ld

Candidate Answer: 1) process-centred approach
daal-6agie 986l

QID : 773 - is defined as a systematic process of collecting, analysing and
interpreting information to determine the extent to which pupils are achieving instructional
objectives.

@ N2IQ GFIRE ARSI, F6YTE Y9 I RARIA IR MIFG IRV VUFER RIS
RAULIAEG 60226Q BISTICE F6LIINR ARG UID RRAIT |

Options:

1) Education

S

2) Evaluation

JRISE @AQ!

3) Faciliation

Qo @RI QIdy

4) Curriculum designing
AI0YIFE ILL KR!

Correct Answer: 2) Evaluation
RIS @GS

Candidate Answer: 1) Education
S

QID : 774 - The process of systematically gathering information as part of an evaluation is known
as:

JRUIFRQ Z°8 QIFEQ QUG QIR ORI IQQ AR YTAG ............... 6QIm QRIYIRAIN?

12/71
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Options:

1) assessment
Ry FEIRE QA
2) assignment
JRIIRG @GS

3) verification
QI8 RQQ

4) education
S

Correct Answer: 1) assessment
Ry FEIRE QA

Candidate Answer: 2) assignment
JRUIRG @GS

QID : 775 - The purpose of is necessarily to improve the teaching-learning process
by being able to review the objectives that have been identified for different stages of learning?

Q Q6R4 JYAIQ FER 6QITIE AR 726 FAUAIR S AVIQ YAASIA FIIFER FFRI 8 TSRS
JRUEQ ARG 2SI

Options:

1) analysis

@69Qs

2) assessment
NN

3) extended learning
AHAIAL S

4) discovery learning
ARV IR G

Correct Answer: 2) assessment
daee

Candidate Answer: 3) extended learning
QARG S

QID : 776 - Bruner's stage, involves the encoding and storage of information
where a direct manipulation of objects occurs without any internal representation of the objects.

9600 6QITR 6Q 26 YoFI Q 691F QB AR ITC A 2R 69RY6R @ IR GG Q AR
geaeg @ 62Ia QAR 22689 621NN |

13/71
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Options:

1) discovery
IR

2) symbolic
JoIRIaR

3) enactive

o [lo}

4) iconic
1BV Qd

Correct Answer: 3) enactive
A%

Candidate Answer: 3) enactive
o [lo}

QID : 777 - Who among the following viewed learning as the process of "meaning making"?

FIRE I @ @ JYIGIQ 2 QLI FERIA IR T 69N RIS *R6R |
Options:

1) Jean Piaget
& Jalees

2) Erik Erikson
QR IGA@6QIQ

3) Jerome Bruner
6E6RU QAR

4) Lev Vygotsky
6AQ QUREANSS,

Correct Answer: 4) Lev Vygotsky
6RQ QRS

Candidate Answer: 1) Jean Piaget
@q geIees

QID : 778 - The curriculum assumes that knowledge is transmitted
directly from those who have it to those who don't.

QIOYFE UAF 64 BIQ AFER6R 6JRCN6R RIFT 6AANAT TSR 6ARFGT AR KR QI
6QCIRE QISQ 9eIZe g9

14/71
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Options:

1) subject-centred
Q-G

2) teacher-centred
JVR-6a5a

3) discovery-learning
2AFVQ )R S

4) learner-centred
JQle-6a5e

Correct Answer: 1) subject-centred
Q-5

Candidate Answer: 1) subject-centred
Q-G

QID : 779 - Learning objectives of which one of these are observable, can provide learning
evidence and can be recognised?

42l Y Q 699 FVIQ AERE UGS FAUARAIER, TR LI 6QAAGR,98° Y21 ARG GAAAIR AIGL
?

Options:

1) content-centred approach
FURRY-605R A8G

2) subject-centred approach
FVA-6@GP ARG

3) learner-centred approach
JQIe-6559 9RG

4) teacher-centred approach
JVR-605 ARG

Correct Answer: 3) learner-centred approach

JQIe-6559 986

Candidate Answer: 1) content-centred approach
FUARY-6TLR ARG

QID : 780 - refers to "the steps taken to reduce the degrees of freedom in
carrying out some task so that the child can concentrate on the difficult skill she is in the process
of acquiring".

626046 QIdig 289! QIR 81 FIeg QALK IFVIQ IA6R LA RGR! AR 2l AR
JPEAUG YO Q69 6UUAE FgS 6d YRl FARA VG| QAR IR 6QRAGS

15/71
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Options:

1) Discovering
QYRR

2) Symbolic coding
JOIRINR 6RFHT RS
3) Structuring
QRN

4) Scaffolding

QR 18

Correct Answer: 4) Scaffolding
QR €15

Candidate Answer: 4) Scaffolding
LRG 18

QID : 781 - Y@ 98500 98Q, WY JVE AKR6QR Q Q4eRIg gRIGY GITQI QFF |

Options:

1
2

) 2IeQdIee Q6

)
3)

)

2
Qedaqee 98eaId
FoRRe QRERIE
4) QRIRIA AQD1C QT6RIE
Correct Answer: 4) QRIRId AN QR6RIS

Candidate Answer: 2) G6649ne G86qI4

QID : 782 - , , 8 Q9919 QIS AU6Q AIF FUTAI TG Q6< |

Options:
1) AYQGI, Q&F, I A1
2) 2RQ, Q&F, Y AN

)
)
3) 2AKel, 994 AL, AFAGI
4) AVAG!, 99D AL, T4 A1

Correct Answer: 1) QIAGI, QA&F, AQY AYS1A

Candidate Answer: 4) IQQGI, A AL, FQY AL

QID : 783 - 2283 6 6RYRE QIAG FTIEIFIER AU AYR FAQ VR LGS 6223

QVRIGEQ IS *Qa% |

16/71
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Options:
1) 6RgQl @0l
2) QY QB!
3) QEQl 93!
4) QU198 2AR VG

Correct Answer: 4) Q9199 QAR @8G!

Candidate Answer: 4) QJKIJE @R @IS

QID : 784 - ¢1Q 2132 6AGITQ Gl QA S99 28 6298 |

Correct Answer: 4) 93Qa@

Candidate Answer: 4) J3QaQ

QID : 785 - “9I@ gRIGY 6 499 QAINER FAILINYS! QRG Fad (Al gl AGEl) ARIER IR YRRl IR 689
SHERIEAIG QLS 62192 |

Correct Answer: 1) Q@ql

Candidate Answer: 4) Q4aQ2I6QIQ

QID : 786 - 1@ 6208 1@ Q694 AN 259 AR VITIQ AL, AIAEITS §R RS 6ART
096Q QIRIRITY 50 KGN |

Options:

1) 621Q8

2) IeaQ

3) NgEaIERE
4) 6QIQ

17171
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Correct Answer: 2) @49

Candidate Answer: 1) 6Q19%

QID : 787 - A9RYS FIQ 6208 A1V AYVER 6AICETIRGR NS @&l 2657
Options:

1) 6QIGETING 6226Q OIS 26-30@ TN ARFIER YL FAUAIRAIER |

2) 6AIFETING YIS AIRIFIER TS Q1B QRAIR TIAFERA JIFQ 2GS 62IRI6R |
3) 6QIG6TIRG AT BI6R FACAT FRILIE g6 AR Jada gale @Ral |

4) QU6 AN

Correct Answer: 4) QJ6QI® A7Q

Candidate Answer: 4) QU6 AL

QID : 788 - @ aQ G99 IR YRLIQ RARIQ REXI [l 266'?

Options:

1
2

) Sgldiw QL Q& @GS

)
3)

)

S
JRleE F6QIRIL 98 QA
Jaidlis 6908l 9F @dal
Q

4) QU6 ANQ

Correct Answer: 3) dgldis 6904 9& <!

Candidate Answer: 4) QJ6QIa AAL

QID : 789 - IRYS AR 694G RIFA JRIQ VIER F6RTE 62IRAN?

Correct Answer: 4) Q@@ (JQ1SI) ¥&° (6UITETING)

Candidate Answer: 4) Q@@ (JQ191) 9G° (6ATETIRAG)

QID : 790 - ARG FRIQ 626 AAIVIER 2IFEHR 62IR2AN?

18/71
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Options:

1) gQ!

2) 6QITETING

3) 2666Q 6Q@G YR
4) Q9Q

Correct Answer: 1)

Odisha Teacher Eligibility Test

g

Candidate Answer: 2) 6QIG6TIRG

QID : 791 - 69Q gRIQQ Q104 &1 GQ Joql gea @QelN?

)
2) 6QI8Il
3) ga
4) 2g6al

Correct Answer: 2)

NN

Candidate Answer: 2) 6194l

QID : 792 - “go:y8” 6QIGI6R TANG §26 IR 52 |

Options:

1
2) 69609R

) QIS
)
3) Gaaie
)

4) QUERIB FRIQ 699G Q6L

Correct Answer: 2)

69699R

Candidate Answer: 3) SJQIQ

QID : 793 - 396Q QAUARYR! GRIQ 5L | “FIRRI FEIR AIAAFER 6QNF6R, IL° AIF AL AR A1l

cQlBem |«
Options:
1) AR QAN
2) 6415 QIY
)
)

3) @5R QIQY
4) 6159-56 QIaY

Correct Answer: 2)

6915@ QIR

19/71
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Candidate Answer: 3) QG% QIaY

QID : 794 - AORYS ARYER IR FAUAIRLS AUSIE]
8.00 6a gaIe @l |

Options:

1) 239

2) JAQR

3) QVIGIQ
4) QREONECIE

Correct Answer: 2) J9Q1Q

Candidate Answer: 3) @IIQQIL

QID : 795 - QRIIFIA QNG AL GGG QAR Kl &UCT?

Correct Answer: 2) 239

Candidate Answer: 2) @32

QID : 796 - @9 62282 2648l G2 92l AR CAHR?
Options:

1) QRIIKIZ QI

2) JEFINQ 6912Q

3) cqidRIel 1918

4) 2GR 69199 62R1UG

Correct Answer: 1) QRIRIE QI

Candidate Answer: 2) Q&flRIQ 6719Q

QID : 797 - gaIql 662 Y9 918 QIF @23 |

Odisha Teacher Eligibility Test

AHRQ gRIQ Q6 266? “QRIE 2048 U2EF IQ° AQIR
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Correct Answer: 3) 609G

Candidate Answer: 3) 609G

QID : 798 - ‘2GQRQI AFLAAY AAKIAQ TV R 26T |
Options:

1) 680 ¢ QU6 2RIGE

2) 6918 261 QUEA 2RIRS

3) &gl 6l QU6Q ARIGE

4) 9 A6 AA6R ARG

Correct Answer: 2) 6918 ¢l QU6Q 2GS

Candidate Answer: 1) 652 ¢ QU6Q RIS

QID : 799 - JULIQ gl @G | oIel 699 AT IR ol 4169 gem |
Options:

1)

2) F@Q 6919R 6QRIAG
3) 960K 71218

4) 6Q13R12 C19IT

QIRFIIQ 6C19Q

Correct Answer: 3) g60% ¢12I3

Candidate Answer: 2) O&@Q 67190 63R10G

QID : 800 - I@Q 671127 6ARIAGE FIQ QTS QAN ‘ARAI'Q VALY R4 2UCT'?
Options:

1) QSR AR NP1 SIS
2) ACIGRD F1RFQ QILAG!

3) sdlQidie

4) g9t egen

Correct Answer: 1) QURQIQ AL IGATR &I
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Candidate Answer: 2) QFIG@ F198Q QLRS!

Odisha Teacher Eligibility Test

QID : 801 - 667 QARSI ARG 9@ YYYERR QaQ Gag diw ARG ¢ 628 AG0IQ 2R

¢ g2 92 gag g9

2R 63lI6S & 60IRE AIF |

¢ a1 6 Qleng 694

A2 GARER,

QIA6Q 9 9GARIR,

A9 69 *09IQ 6943 |

IR 6I6L6RER 2IEAR 6QSILa

Q% ¥ AZAQ,

¢ 628 GAaQ Faq ARG QTR 671Q 6271 ATS,
IR GIY6Q AR *Q&!

QG 6J606Q6R G4 6269 @8 RQER?
Options:

1) 62 INYEY A6

2) 69 gM 60176
)
)

3) 69 99K AL UIRER
4) 69 YR 69IQ QL6R

Correct Answer: 1) 63 JRGEQ §R6R

Candidate Answer: 1) 62 gRJeYQ 8969

QID : 802 - 567 GRS ATE! I8 999ERR Qe G2g IdiT FRG6Q ¢ 62@ AF0IQ 2R

d 92 §2 gag gaa

2R 66163 & 6017% Q12 |

¢ a1 6 Qleng 694

4Ie FLA6Q,

QAIA6Q T 9IRS,

Q9 9@ A09IQ 694a |

2R 6060696% 2CAIR 6T

IR @0 ALY,

¢ 692 Ga9g Faq @64 QIR 671Q 6291 AFS,
IR QIU6Q AR FQAG!

QC Q8 6Q6a?
Options:

1) 92069 QA QO
2) QG

)
)
3) 2IRIFER AR
4) QU6RI8 ALY

Correct Answer: 4) QJ6QIa AXQ
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Candidate Answer: 4) QU6QI8 AL

QID : 803 - 667 QARSI ARG 9@ YYYERR RaQ GAg Idiw ARG ¢ 628 AG0IQ 2R

¢ 62 92 gag g9

2R 63lI6T & 60IRT Q1T |

¢ a1 6 Qleng 694

A2 FARER,

QIA6Q 9 9GARIR,

Q9 69 *09IQ 694a |

IR 6I6L6QER 2IEMR 6QSITa

Q% *EQ ALY,

¢ 628 AaQ Faq ARG QITIR 671R 6271 ATS,
IR GIY6Q AR @RS

669 O°R6Q @R 699 2IERIAY JATIAG FQRE?
Options:

1) gAi@Qd

2) AR GIRITQ AR
3) ARYI6Q AZAQ ZUERIR
4) QG2IQ YA 2IERIKR

Correct Answer: 3) 4dI6Q AL 2RISR

Candidate Answer: 1) gdy4@qd

QID : 804 - 667 GRS ATE! IQ YRR QA GAg IdiT FRGEQ ¢ 62@ AF0IQ 2R

¢ 92 92 gag 899

2IR 69166 @ 6917 QIE |

d a1ge 6 Qleng 69Ya

I8 PLR6ER,

QAR AR IR,

Q2 9a A0IQ 6QHA |

2R 6JI6C6R6R 2IAIR 6QITal

IR @0 ALY,

¢ 692 Ga9g Faa @GR QIR 671Q 6291 RG0S,
IR GIT6Q AR *Q&!

QQC! AloRAIRE @8 @987
Options:

1) 699 FAAYER 2ITGF FITYS F6Q 6A0IQ QI IR DRI YG° 6IRDIR SIF NQ° FAG! FRIR F6Q 620I1g
gel am

2) 9291Q 6d1RA4Q 2R 68IQ

3) GAQ 69186Q FEIg OF AIQQ 6XARIG 629 &7 FEIg FAG! Ye° dIEQ A2 ATAMIGERR A *AQIQ 629 |
4) QACAIB AIQ ANY
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Correct Answer: 4) QUEQIS F1UQ ANG

Candidate Answer: 4) QUEQI® F1UQ ANG

QID : 805 - 967 G2UYIRYR KRG IR YL A8Q G2g i Fad6a ¢ 623 A0IQ 2IRRS!

¢ 92 92 gag g9

2R 69166 § 60178 AIF |

¢ a1 6 Qleng 6%

A8 GUR6R,

QAR AR 99RIR,

A2 99 Q09IQ 6QHE |

IR 6I606RER 2IEMR 6QTa

Q% *EQ A2AQ,

¢ 628 AaQ Faq AAG QITIR 671R 6271 ATS,
IR QIU6Q AR FQAR!

AT 6RECERER AITIQ BIF6R?

Options:

1) @G 6960667 &% 28R 08F Q@AUIRES |
2) 6J60696R RIS ARIQA 6QARTS |

3) 60606Q6R AR @FF JeT 0IQ G186 6a< |
4) QU6QIB F1IQ AAQ |

Correct Answer: 4) QJEQIS F1UQ AAG |

Candidate Answer: 1) @3 6960696R A% 28R 526 FRRER |

QID : 806 - G6% QRILINYQI APERT IT JHFEAR QAQ GAUF AIGETE QI QRS 6208 1@ ABQ QL AT
JQ¢), g8 FIRER QRN | 6A7FRR A8 G | FII AG6R, g8 A 67198 AF2UN LITIF 62A9EAR FBQ
QI2IRAN | AIRTY T6AR 2IGER 62IR2IN | @ 6816 B 6AINRIQ 62RAN | AQIGER 2 @Yl KIR AR 6OGT|
62192 | @8 99 A AIYER 62IR2UN | & 9If &)l 99 IR 62IRAN | AL @@”6@ Q1% 621Q QN |
RIRCY IM 9L 62IRAN, IQ° 6AGER I @8 QAP JTEUN | 6A4ER I TR FTEN QIQE 6296
698 Q16 @Y 6219 AYT FIA TAUGAF 62NN 6AATER AUF6R ARG FILIA 1B | V16 B 6818 AFANER
605N QIRTQR ARY FIRTAR IAUREAE 61T 6AR2UIT | AYRI1E FIRTY AR 8 @F& AICAARIER QG |
ARGER TSI, AIBIGIAR, G FIAFIER AZeUN | QIFTAER 9Fe 9@ IS QAN QIR 9% Ig QIFIPS *ARIQ
Q06 6QRAN | B8 MIGYA QIE6A A7 08 6RIT° ARaIN, AIZI TREQ IS QISR 7R AN 6QIZIN |
ARG FIRCYER A 69Q AR2UN YF AiS T 6TRAIGL TRER 6AFFR 60606967 Qdl 629 g0 TS
AUQEHIVE FQAIAL |

AR QUIFSE 6RRA0I6Q 6QFRIG TFeIN?

Options:
1) AIRIFNLR

2) @J4 260!
3) @@Q 26
4) QU6 ANY
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Correct Answer: 4) QJ6QIe AL

Candidate Answer: 4) QU6 AL

QID : 807 - G6% QRIKIRLYQI AGERA UG J49eaa Qe T2 QISETE @l QIecq 6208 Y@ Q8e Iel 26
9Q¢l, g8 AIRER QRN | 6A7FRR OB FaIN | GIgl AG6R, g8 AQH 671998 Q@2 UITIR 629ERR FIBR
QIRIRAN | FIRTY AR QLR 62IRAN | §F 6216 G CAINRIA 621NN | ARIGER 23 &)l IR AR 66T
621R2M | @8 6@ 97 2EA 62IR2IN | 78 98 A 991 9R 6RIRAN | ANYER RRER AIG 621R RN |
RRCY IM Q¢ 62IRNAN, I9° 6QgER IR &F ATEQ FTAUN | 6Q9ERR IR AUTER JTUN RIQE 6QAgeR
698 Q16 @Y 6819 AYT FIA TAUGAF 62NN 6AATER AUF6RQ ARG FILIA &IF | H16 3 6818 AFANER
601N QIRTQQ ARY RIRTA] VAAEAE 61T 6R2UIT | AYRIE RINTY RAQ 8 QFE AICAARIER QZeN |
URYER ATR, AIGIGIAR, G FINFIER QTN | QIRTIER 2gE G° UG AN QA 9% UG AR AAQIQ
2GAG 620N | AT AR AIL6R 71291 AQ 6RIS° A2, AT TREQ A VISR @ AN 69122l |
ARAE AIRY6R REl 601 Q2N YV AL 3O 6NV TRER 6AFRR 6U6F6R6R QF| 629 LV AT
AUQEHIVE FQAAR |

AIRSYR 98 9RR6E @8 a@eIN?

1) g8 <l @l
2) @ Q1 699
3) aR1

)

Correct Answer: 1) g% Ql Q4

Candidate Answer: 1) g% Ql @4l

QID : 808 - G6% GRS AGERR TR YGYGAR QR GAUF ACETS QI QIR 6208 e ABQ IRl 2T
9, g8 AR QRN | 629FRR A8 AN | G121 AAEE, §8 A4 671008 QRN ITIF 699501 F9Q
QI2IRAN | QIRTY F6AR 2IGER 62IR2IN | T 6816 B 6AINRIA 62RAN | ARIGER 32 &l RIT AR 6OGT|
621R2M | @8 6@ 9 2QEA 62IRAN | AF 98 A 991 AR 6IRAN | AR RRER AIS 621R RN |
RIFCY IM 9L 62IRAIN, IQ° 6AGRR FIQ @F AR JTEUN | 6A4ERA IM TR TN QIQE 66
692 @16 @Yl 6819 AYF TR AQUGAS! 62IR2AN 6DLATNER QITER QIR ALIR 2T | K16 G 6816 AGLIER
605N QIRTQQ AR FIRTA] VAUREAE 61T 6R2UIT | AYRI1E FIFTY RAQ 8 @F& AICAARIER QZelN |
ARGER 2T, CIGIGIAR, G FINFIER AFeUN | FIRTAER 9gC G° U KN QA 9¢ IQ QIFIRE QAR
29016 62RAN | B8 MIAgA QIE6A F2¢ JQ 6RIC° AEaIN, AI2I TREQ AIS QIEQ FF AN 6QIZaIN |
ARG FIRFYER A 69R QRN YF AiS FLE 6RVAL TRER 6AFFR 61606967 Qdl 629 g TS
Q6T KQAAIAQ |

@ QIRTYEQ &9l 6FIGER 598 U2l 99 JRUIQE 8 AQEHITE6R ARG @R |
Options:

1) 691161 F17YD QITIR
2) Q) 699

3) 98 9GQ6R 671QaE
4) QU6QIB AL

Correct Answer: 4) Q46QIa8 ANQ
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Candidate Answer: 2) @¢l 69Q

QID : 809 - G6% QRIKIRYSI AGERD U J4Ieaa Qe T2 QISETE @I RlIecq 6208 e Q8e JIeI 26
9a¢l, g8 AIRER QRAUN | 6A7FRR 9B FaIN | GIgl AG6R, g8 A9 67198 A@aN UITIR 629ERR FIBR
QIRIRAN | FIRTY AR QLR 62IRAN | §F 6316 G 6AINRIA 62IR2UN | QUGPSR 23 &)l QI8 AR 6@
621R2N | @8 6@ 97 2EA 62IRN | @8 98 Al 991 9R 6RIRAN | ANYER RRER AIG 621R RN |
QPG I Q¢ 62IRNAN, I9° 6QGER IR &F ATEQ FTUN | 6Q9FRR IR ATER JTUN RIQd 6AgeR
698 Q16 @Yl 6819 AYF FIAU TG 62NN 6AATER AUT6RQ ARG FILIA &IF | F16 3 6818 AFANER
60IGN QIRTQQ ARY RIRTA] VAAEAE 61T 62T | AYRI1E FINTY R@AQ B8 QFE AICAARIER QZeN |
ARGER 2T, CIGIGIAR, B FIAFIER QZeUN | QIATAEQ 9FC 9@ UQ QAN QIR 9% Ug QIFIRE AR
2GAG 692N | @F FRQR FL6R 71291 AR 62IS° A2, AL TREQ A VISR R AN 6Q1eIN |
2RI FIRCLER A 69Q QRN YV ADIS TLE 6TRVAR FRER 6AFFR 6060696 Qdl 629 g IS
Q6T KAAAQ |

F69IB FRIQ 620G AYETCQR 2IQE 96L7?
Options:

1) 661 9Q el
2) 29190 A°q0q!
3) 98 2IQPEQ AL
4) 6067 9Q° 6QIRIRIR

Correct Answer: 4) 6@6f 9Q° 6QIRIRIQ

Candidate Answer: 3) Q& 2I9GQ Q°Q0R

QID : 810 - 96% QRIAINYSI APERR UT JHFERA QAQ TAUG QIGEAE QI QRY 6208 9@ Q8@ AL AT
9Q9), g8 FINER QRN | 629ERR S FaIN | FI2I ABR6R, §8 A9 67198 Q@I YIDIF 62 FSR
QI2IRAN | FIRTY ACAR AKTR 62RAN | T 6816’ G CAlINIRIQ IR | ARFER 22 & KIF AR G|
62192 | @8 99 A 2T 62IR2UN | & 9Ig §¢)l 99 IR 62IRAN | AL @{56@ Q1% 621Q Qe |
RIFCY IM 9L 62IRAIN, IQ° 6AGER FIQ @F QAT JTEUN | 6A4ERA IM AT JTeUN QIQE 626
692 @16 @Yl 6819 AYF TR AAUGAT! 62IR2N 6LLATNER QITER QIR AR 2T | K16 G 6816 AGLIER
605N QIRTQR ARY FIRTA] VAREAE 61T 6R2UIT | AYRIE FIFTY RAQ 8 @F& AICAARIER QZelN |
ARYER 2T, AIBIGIAR, B FINFIER QZeUN | QIFTAEQ IFe G UG QAN QIR 9% Ig QIFIPES ARG
29016 6QRAN | B8 MIAYA QIS6A F2¢ 4Q 6RIT° AaIN, AI2I TREQ IS QIEQ 7R AN 6QIZIN |
ARG FIRFYER A 69R QRN YV AiS FLE 6TRAIGL TRER 6AFFR 61606967 Qdl 629 g TS
Q6T @QAAAR |

INYGR QUF6Q RIG FTR?

Options:

1) RIGFI6E FRAIGFR TQIG A°AF6Q ALY FRE |
2) gRQER Q9 |
)
)

3) AgETE I AGER 6T |
4) QU2 (R1SF1I62 IRAINEA JAIG AFFIER AIRIYY @AE 1) Ye° (AYETE I ATER F66' 1)

Correct Answer: 2) gagee @@ |
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Candidate Answer: 4) Q@9 (199162 FRAIFER UG A°IER ALY @QZ |) 9Q° (AYETEN IR
QUGER 69 1)

QID : 811 - The sentence below has been divided into three parts. Select the part of the sentence
that has an error. If the sentence has no error, select the option 'No Error'.

The waiter/ waited at/ my tables.
Options:

1)

2) waited at
3) my tables.
4) No error

The waiter

Correct Answer: 3) my tables.

Candidate Answer: 2) waited at

QID : 812 - Select the word segment that substitutes (replaces) the bracketed word segment
correctly and completes the sentence meaningfully.

(I had studied all night), | would have aced my tests.
Options:

1) Would | have studied all night.

2) have | studied all night

)
)
3) Had | studied all night
4) Did | study all night

Correct Answer: 3) Had | studied all night

Candidate Answer: 3) Had I studied all night

QID : 813 - Choose the right passive sentence for this active sentence:
| will be working on the project.
Options:
1) The project will worked by me.
2) The project was worked on by me.
)
)

3) The project is going to be worked upon by me.
4) On the project | will be working.

Correct Answer: 3) The project is going to be worked upon by me.
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Candidate Answer: 3) The project is going to be worked upon by me.

QID : 814 - Select the most appropriate word that fills in the blank correctly and completes the
sentence meaningfully.

We did not have slightest idea that he was a thief.

Correct Answer: 2) the

Candidate Answer: 2) the

QID : 815 - Select the most appropriate word that fills in the blank correctly and completes the
sentence meaningfully.

The cat climbed the wall.

Options:

1) up/on

2) upon/over
)
)

3) up/over
4) over/into

Correct Answer: 1) up/on

Candidate Answer: 1) up/on

QID : 816 - Select the word that is closest in meaning (SYNONYM) to the word given below.
Irrelevant

Options:

1) Arduous
2) Reluctant
3) Unrelated
4) Unidentified

Correct Answer: 3) Unrelated

Candidate Answer: 3) Unrelated
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QID : 817 - Select the word that is opposite in meaning (ANTONYM) to the word given below.

Release

Options:

1) Relinquish

2) Relieve
)
)

3) Captive
4) Rigorous

Correct Answer: 3) Captive

Candidate Answer: 3) Captive

QID : 818 - Select the word that is spelled correctly.
Options:

1) Auspicious

2) Auspitious
)
)

3) Auspisious
4) Auspictious

Correct Answer: 1) Auspicious

Candidate Answer: 1) Auspicious

QID : 819 - Select the most appropriate 'one word ' for the expressions given below.

Accorded a great deal of respect, especially because of age, wisdom, or character
Options:

1)

2) Supreme
3) Detest
4) Demean

Venerable

Correct Answer: 1) Venerable

Candidate Answer: 3) Detest

QID : 820 - Select the most appropriate meaning of the given idiom with a similar Idiom.

Piece of cake
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Options:
1) Extremely difficult
2) Something which is very simple

)
)
3) Intuition for something dangerous
4) Invitation for birthday

Correct Answer: 2) Something which is very simple

Candidate Answer: 4) Invitation for birthday

QID : 821 - When a teacher engages a class in role play, what are they usually assessing?
Options:

1) Assessment of reading

2) Assessment of writing

)
)
3) Assessment of listening and speaking
4) Assessment of personality

Correct Answer: 3) Assessment of listening and speaking

Candidate Answer: 4) Assessment of personality

QID : 822 - While assessing a child’s written work, which one of the following should not be
focused on?

Options:
1) Fluency
2) Content
)
)

3) Accuracy
4) Symbolism

Correct Answer: 4) Symbolism

Candidate Answer: 2) Content

QID : 823 - Which of the following exercises focuses mainly on testing the vocabulary?
Options:

1) Match the following

2) True or False
)
)

3) Transformation
4) Multiple Choices

Correct Answer: 1) Match the following

30/71
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Candidate Answer: 1) Match the following

QID : 824 - The exercise in which a child is given a text in which the every nth word is deleted,
and is asked to complete the text by filling in the deleted words is known as

Options:

1) Dictation
2) Translation
3) Rewriting
4) The Close Procedure

Correct Answer: 4) The Close Procedure

Candidate Answer: 3) Rewriting

QID : 825 - The process of giving grades or marks for a child’s work is known as

Options:

1
2
3
4

Recording
Assessing
Reporting
Closing

~— — ~— ~—

Correct Answer: 3) Reporting

Candidate Answer: 4) Closing

QID : 826 - Among the following assessments, which one of these does not help in process of
Learning?

Options:

1
2
3
4

Scolding the child

Identifying the strengths of a child
Using anecdotal records

Providing timely inputs or interventions

—_— — ~— ~—

Correct Answer: 1) Scolding the child

Candidate Answer: 2) ldentifying the strengths of a child

QID : 827 - Which of the following is not essential for Language learning curriculum?

202.191.140.165/otetmay19/ccgsa_sep19/process.php?appid=12b748051c486160c4e32c1calbe04e5&q=ZmJkNThhNjJkZjBjZWEwWYjY3YjUx...
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Options:
1) Making the class contextual
2) Following age appropriate pedagogy

)
)
3) Allowing children to discuss or talk while performing activities
4) Not allowing the children to get creative with their thoughts

Correct Answer: 4) Not allowing the children to get creative with their thoughts

Candidate Answer: 4) Not allowing the children to get creative with their thoughts

QID : 828 - The Smart board is a type of

Options:

1) Visual — Activity aid

2) Hearing aid

3) Video — Audio visual aid
4) Speaking aid

Correct Answer: 3) Video — Audio visual aid

Candidate Answer: 1) Visual — Activity aid

QID : 829 - Which of the following is not a Learning — Teaching strategy in the case of learning
English as a second language?

Options:
1) Confidence session
2) Fair play
)
)

3) Self and peer correction
4) Trouble-shooting session

Correct Answer: 2) Fair play

Candidate Answer: 3) Self and peer correction

QID : 830 - Among the following, which one of these is a characteristic of Pair Work?
Options:
1) Preparing learners for group work
2) Bringing a wider variety of language experiences in a classroom
)
)

3) Helping students in playing imaginary characters in a given situation
4) Providing an opportunity to use language, as used in real life circumstances

Correct Answer: 1) Preparing learners for group work

32/71
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Candidate Answer: 1) Preparing learners for group work

QID : 831 - Read the passage carefully and answer the questions that follow choosing the
correct alternatives.

The Khajuraho Group of Monuments is a group of Hindu temples and Jain temples in Chhatarpur
district, Madhya Pradesh, India, about 175 kilometres southeast of Jhansi. They are a UNESCO
World Heritage Site. The temples are famous for their nagara-style architectural symbolism and
their erotic sculptures.

Most Khajuraho temples were built between 950 and 1050 by the Chandela dynasty. Historical
records note that the Khajuraho temple site had 85 temples by the 12th century, spread over 20
square kilometres. Of these, only about 25 temples have survived, spread over six square
kilometers.Of the surviving temples, the Kandariya Mahadeva Temple is decorated with a
profusion of sculptures with intricate details, symbolism and expressiveness of ancient Indian art.
The Khajuraho group of temples were built together but were dedicated to two religions, Hinduism
and Jainism, suggesting a tradition of acceptance and respect for diverse religious views among
Hindus and Jains in the region. The 10th-century Bhand Deva Temple in Rajasthan was built in
the style of the Khajuraho monuments and is often referred to as 'Little Khajuraho'.

The temple site is within Vindhya mountain range in central India. An ancient local legend held
that Hindu deity Shiva and other gods enjoyed visiting the dramatic hill formation in Kalinjar area.
The centre of this region is Khajuraho, set midst local hills and rivers. The temple complex reflects
the ancient Hindu tradition of building temples where gods love to pray.

The temples are clustered near water, another typical feature of Hindu temples. The current water
bodies include Sib Sagar, Khajur Sagar (also called Ninora Tal) and Khudar Nadi (river).Local
legends state that the temple complex had 64 water bodies, of which 56 have been physically
identified by archaeologists so far.

All temples, except one (Chaturbhuja) face sunrise - another symbolic feature that is predominant
in Hindu temples. The relative layout of temples integrate masculine and feminine deities and
symbols highlight the interdependence. The artwork symbolically highlight the four goals of life
considered necessary and proper in Hinduism - dharma, kama, artha and moksha.Of the
surviving temples, six are dedicated to Shiva and his consorts, eight to Vishnu and his affinities,
one to Ganesha, one to Sun god, three to Jain Tirthankars.For some ruins, there is insufficient
evidence to assign the temple to specific deities with confidence.

An overall examination of site suggests that the Hindu symbolic mandala design principle of
square and circles is present each temple plan and design. Further, the territory is laid out in three
triangles that converge to form a pentagon. Scholars suggest that this reflects the Hindu
symbolism for three realms or trilokinatha, and five cosmic substances or panchbhuteshvara.The
temple site highlights Shiva, the one who destroys and recycles life, thereby controlling the
cosmic dance of time, evolution and dissolution.

The Khajuraho temples are dedicated to which 2 religions?
Options:
1) Hinduism and Jainism
2) Hinduism and Buddhism
)
)

3) Buddhism and Jainism
4) Jainism and Sikhism

Correct Answer: 1) Hinduism and Jainism

Candidate Answer: 1) Hinduism and Jainism

33/71


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

10/8/2019

Odisha Teacher Eligibility Test

QID : 832 - Read the passage carefully and answer the questions that follow choosing the
correct alternatives.

The Khajuraho Group of Monuments is a group of Hindu temples and Jain temples in Chhatarpur
district, Madhya Pradesh, India, about 175 kilometres southeast of Jhansi. They are a UNESCO
World Heritage Site. The temples are famous for their nagara-style architectural symbolism and
their erotic sculptures.

Most Khajuraho temples were built between 950 and 1050 by the Chandela dynasty. Historical
records note that the Khajuraho temple site had 85 temples by the 12th century, spread over 20
square kilometres. Of these, only about 25 temples have survived, spread over six square
kilometers.Of the surviving temples, the Kandariya Mahadeva Temple is decorated with a
profusion of sculptures with intricate details, symbolism and expressiveness of ancient Indian art.
The Khajuraho group of temples were built together but were dedicated to two religions, Hinduism
and Jainism, suggesting a tradition of acceptance and respect for diverse religious views among
Hindus and Jains in the region. The 10th-century Bhand Deva Temple in Rajasthan was built in
the style of the Khajuraho monuments and is often referred to as 'Little Khajuraho'.

The temple site is within Vindhya mountain range in central India. An ancient local legend held
that Hindu deity Shiva and other gods enjoyed visiting the dramatic hill formation in Kalinjar area.
The centre of this region is Khajuraho, set midst local hills and rivers. The temple complex reflects
the ancient Hindu tradition of building temples where gods love to pray.

The temples are clustered near water, another typical feature of Hindu temples. The current water
bodies include Sib Sagar, Khajur Sagar (also called Ninora Tal) and Khudar Nadi (river).Local
legends state that the temple complex had 64 water bodies, of which 56 have been physically
identified by archaeologists so far.

All temples, except one (Chaturbhuja) face sunrise - another symbolic feature that is predominant
in Hindu temples. The relative layout of temples integrate masculine and feminine deities and
symbols highlight the interdependence. The artwork symbolically highlight the four goals of life
considered necessary and proper in Hinduism - dharma, kama, artha and moksha.Of the
surviving temples, six are dedicated to Shiva and his consorts, eight to Vishnu-and his affinities,
one to Ganesha, one to Sun god, three to Jain Tirthankars.For some ruins, there is insufficient
evidence to assign the temple to specific deities with confidence.

An overall examination of site suggests that the Hindu symbolic mandala design principle of
square and circles is present each temple plan and design. Further, the territory is laid out in three
triangles that converge to form a pentagon. Scholars suggest that this reflects the Hindu
symbolism for three realms or trilokinatha, and five cosmic substances or panchbhuteshvara.The
temple site highlights Shiva, the one who destroys and recycles life, thereby controlling the
cosmic dance of time, evolution and dissolution.

Which of these is not a water body located near the Khajuraho Temples?
Options:
1) Sib Sagar
2) Ganga Nadi
)
)

3) Khajur Sagar
4) Khudar Nadi

Correct Answer: 2) Ganga Nadi

Candidate Answer: 2) Ganga Nadi
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QID : 833 - Read the passage carefully and answer the questions that follow choosing the
correct alternatives.

The Khajuraho Group of Monuments is a group of Hindu temples and Jain temples in Chhatarpur
district, Madhya Pradesh, India, about 175 kilometres southeast of Jhansi. They are a UNESCO
World Heritage Site. The temples are famous for their nagara-style architectural symbolism and
their erotic sculptures.

Most Khajuraho temples were built between 950 and 1050 by the Chandela dynasty. Historical
records note that the Khajuraho temple site had 85 temples by the 12th century, spread over 20
square kilometres. Of these, only about 25 temples have survived, spread over six square
kilometers.Of the surviving temples, the Kandariya Mahadeva Temple is decorated with a
profusion of sculptures with intricate details, symbolism and expressiveness of ancient Indian art.
The Khajuraho group of temples were built together but were dedicated to two religions, Hinduism
and Jainism, suggesting a tradition of acceptance and respect for diverse religious views among
Hindus and Jains in the region. The 10th-century Bhand Deva Temple in Rajasthan was built in
the style of the Khajuraho monuments and is often referred to as 'Little Khajuraho'.

The temple site is within Vindhya mountain range in central India. An ancient local legend held
that Hindu deity Shiva and other gods enjoyed visiting the dramatic hill formation in Kalinjar area.
The centre of this region is Khajuraho, set midst local hills and rivers. The temple complex reflects
the ancient Hindu tradition of building temples where gods love to pray.

The temples are clustered near water, another typical feature of Hindu temples. The current water
bodies include Sib Sagar, Khajur Sagar (also called Ninora Tal) and Khudar Nadi (river).Local
legends state that the temple complex had 64 water bodies, of which 56 have been physically
identified by archaeologists so far.

All temples, except one (Chaturbhuja) face sunrise - another symbolic feature that is predominant
in Hindu temples. The relative layout of temples integrate masculine and feminine deities and
symbols highlight the interdependence. The artwork symbolically highlight the four goals of life
considered necessary and proper in Hinduism - dharma, kama, artha and moksha.Of the
surviving temples, six are dedicated to Shiva and his consorts, eight to Vishnu and his affinities,
one to Ganesha, one to Sun god, three to Jain Tirthankars.For some ruins, there is insufficient
evidence to assign the temple to specific deities with confidence.

An overall examination of site suggests that the Hindu symbolic mandala design principle of
square and circles is present each temple plan and design. Further, the territory is laid out in three
triangles that converge to form a pentagon. Scholars suggest that this reflects the Hindu
symbolism for three realms or trilokinatha, and five cosmic substances or panchbhuteshvara.The
temple site highlights Shiva, the one who destroys and recycles life, thereby controlling the
cosmic dance of time, evolution and dissolution.

How many of the Khajuraho temples are dedicated to Jain Tirthankaras?

Correct Answer: 4) three

Candidate Answer: 4) three
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QID : 834 - Read the passage carefully and answer the questions that follow choosing the
correct alternatives.

The Khajuraho Group of Monuments is a group of Hindu temples and Jain temples in Chhatarpur
district, Madhya Pradesh, India, about 175 kilometres southeast of Jhansi. They are a UNESCO
World Heritage Site. The temples are famous for their nagara-style architectural symbolism and
their erotic sculptures.

Most Khajuraho temples were built between 950 and 1050 by the Chandela dynasty. Historical
records note that the Khajuraho temple site had 85 temples by the 12th century, spread over 20
square kilometres. Of these, only about 25 temples have survived, spread over six square
kilometers.Of the surviving temples, the Kandariya Mahadeva Temple is decorated with a
profusion of sculptures with intricate details, symbolism and expressiveness of ancient Indian art.
The Khajuraho group of temples were built together but were dedicated to two religions, Hinduism
and Jainism, suggesting a tradition of acceptance and respect for diverse religious views among
Hindus and Jains in the region. The 10th-century Bhand Deva Temple in Rajasthan was built in
the style of the Khajuraho monuments and is often referred to as 'Little Khajuraho'.

The temple site is within Vindhya mountain range in central India. An ancient local legend held
that Hindu deity Shiva and other gods enjoyed visiting the dramatic hill formation in Kalinjar area.
The centre of this region is Khajuraho, set midst local hills and rivers. The temple complex reflects
the ancient Hindu tradition of building temples where gods love to pray.

The temples are clustered near water, another typical feature of Hindu temples. The current water
bodies include Sib Sagar, Khajur Sagar (also called Ninora Tal) and Khudar Nadi (river).Local
legends state that the temple complex had 64 water bodies, of which 56 have been physically
identified by archaeologists so far.

All temples, except one (Chaturbhuja) face sunrise - another symbolic feature that is predominant
in Hindu temples. The relative layout of temples integrate masculine and feminine deities and
symbols highlight the interdependence. The artwork symbolically highlight the four goals of life
considered necessary and proper in Hinduism - dharma, kama, artha and moksha.Of the
surviving temples, six are dedicated to Shiva and his consorts, eight to Vishnu and his affinities,
one to Ganesha, one to Sun god, three to Jain Tirthankars.For some ruins, there is insufficient
evidence to assign the temple to specific deities with confidence.

An overall examination of site suggests that the Hindu symbolic mandala design principle of
square and circles is present each temple plan and design. Further, the territory is laid out in three
triangles that converge to form a pentagon. Scholars suggest that this reflects the Hindu
symbolism for three realms or trilokinatha, and five cosmic substances or panchbhuteshvara.The
temple site highlights Shiva, the one who destroys and recycles life, thereby controlling the
cosmic dance of time, evolution and dissolution.

Khajuraho Temples were built by which Dynasty?

Options:

1) Chandela

2) Chalukya
)
)

3) Maurya
4) Chola

Correct Answer: 1) Chandela

Candidate Answer: 1) Chandela
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QID : 835 - Read the passage carefully and answer the questions that follow choosing the
correct alternatives.

The Khajuraho Group of Monuments is a group of Hindu temples and Jain temples in Chhatarpur
district, Madhya Pradesh, India, about 175 kilometres southeast of Jhansi. They are a UNESCO
World Heritage Site. The temples are famous for their nagara-style architectural symbolism and
their erotic sculptures.

Most Khajuraho temples were built between 950 and 1050 by the Chandela dynasty. Historical
records note that the Khajuraho temple site had 85 temples by the 12th century, spread over 20
square kilometres. Of these, only about 25 temples have survived, spread over six square
kilometers.Of the surviving temples, the Kandariya Mahadeva Temple is decorated with a
profusion of sculptures with intricate details, symbolism and expressiveness of ancient Indian art.
The Khajuraho group of temples were built together but were dedicated to two religions, Hinduism
and Jainism, suggesting a tradition of acceptance and respect for diverse religious views among
Hindus and Jains in the region. The 10th-century Bhand Deva Temple in Rajasthan was built in
the style of the Khajuraho monuments and is often referred to as 'Little Khajuraho'.

The temple site is within Vindhya mountain range in central India. An ancient local legend held
that Hindu deity Shiva and other gods enjoyed visiting the dramatic hill formation in Kalinjar area.
The centre of this region is Khajuraho, set midst local hills and rivers. The temple complex reflects
the ancient Hindu tradition of building temples where gods love to pray.

The temples are clustered near water, another typical feature of Hindu temples. The current water
bodies include Sib Sagar, Khajur Sagar (also called Ninora Tal) and Khudar Nadi (river).Local
legends state that the temple complex had 64 water bodies, of which 56 have been physically
identified by archaeologists so far.

All temples, except one (Chaturbhuja) face sunrise - another symbolic feature that is predominant
in Hindu temples. The relative layout of temples integrate masculine and feminine deities and
symbols highlight the interdependence. The artwork symbolically highlight the four goals of life
considered necessary and proper in Hinduism - dharma, kama, artha and moksha.Of the
surviving temples, six are dedicated to Shiva and his consorts, eight to Vishnu and his affinities,
one to Ganesha, one to Sun god, three to Jain Tirthankars.For some ruins, there is insufficient
evidence to assign the temple to specific deities with confidence.

An overall examination of site suggests that the Hindu symbolic mandala design principle of
square and circles is present each temple plan and design. Further, the territory is laid out in three
triangles that converge to form a pentagon. Scholars suggest that this reflects the Hindu
symbolism for three realms or trilokinatha, and five cosmic substances or panchbhuteshvara.The
temple site highlights Shiva, the one who destroys and recycles life, thereby controlling the
cosmic dance of time, evolution and dissolution.

How many Khajuraho temples were there in the 12th Century?
Options:

1) 25
2) 60
3)85
4) 90

Correct Answer: 3) 85

Candidate Answer: 3) 85
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QID : 836 - Read the poem carefully and answer the questions that follow choosing the correct
alternatives.

The Song of Wandering Aengus
W. B. Yeats

| went out to the hazel wood,

Because a fire was in my head,

And cut and peeled a hazel wand,

And hooked a berry to a thread;

And when white moths were on the wing,
And moth-like stars were flickering out,

| dropped the berry in a stream

And caught a little silver trout.

When | had laid it on the floor

| went to blow the fire a-flame,

But something rustled on the floor,
And someone called me by my name:
It had become a glimmering girl

With apple blossom in her hair

Who called me by my name and ran
And faded through the brightening air.

Though | am old with wandering
Through hollow lands and hilly lands,
| will find out where she has gone,
And kiss her lips and take her hands;
And walk among long dappled grass,
And pluck till time and times are done,
The silver apples of the moon,

The golden apples of the sun.

What did the poet catch in the stream?
Options:

1) A silver trout

2) A red berry

)
)
3) A blue kingfish
4) Silver apples of the moon

Correct Answer: 1) A silver trout

Candidate Answer: 1) A silver trout
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QID : 837 - Read the poem carefully and answer the questions that follow choosing the correct
alternatives.

The Song of Wandering Aengus
W. B. Yeats

| went out to the hazel wood,

Because a fire was in my head,

And cut and peeled a hazel wand,

And hooked a berry to a thread;

And when white moths were on the wing,
And moth-like stars were flickering out,

| dropped the berry in a stream

And caught a little silver trout.

When | had laid it on the floor

| went to blow the fire a-flame,

But something rustled on the floor,
And someone called me by my name:
It had become a glimmering girl

With apple blossom in her hair

Who called me by my name and ran
And faded through the brightening air.

Though | am old with wandering
Through hollow lands and hilly lands,
| will find out where she has gone,
And kiss her lips and take her hands;
And walk among long dappled grass,
And pluck till time and times are done,
The silver apples of the moon,

The golden apples of the sun.

What did the girl have in her hair?
Options:
1

2) Silver Stars

) Hazel wood
)

3) Apple Blossom
)

4) Blue Berries
Correct Answer: 3) Apple Blossom

Candidate Answer: 3) Apple Blossom
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QID : 838 - Read the poem carefully and answer the questions that follow choosing the correct
alternatives.

The Song of Wandering Aengus
W. B. Yeats

| went out to the hazel wood,

Because a fire was in my head,

And cut and peeled a hazel wand,

And hooked a berry to a thread;

And when white moths were on the wing,
And moth-like stars were flickering out,

| dropped the berry in a stream

And caught a little silver trout.

When | had laid it on the floor

| went to blow the fire a-flame,

But something rustled on the floor,
And someone called me by my name:
It had become a glimmering girl

With apple blossom in her hair

Who called me by my name and ran
And faded through the brightening air.

Though | am old with wandering
Through hollow lands and hilly lands,
| will find out where she has gone,
And kiss her lips and take her hands;
And walk among long dappled grass,
And pluck till time and times are done,
The silver apples of the moon,

The golden apples of the sun.

What did the poet use the berry for ?
Options:

1) to attract the girl

2) bait for fish

)
)
3) decoration on cake
4) grill in the fire

Correct Answer: 2) bait for fish

Candidate Answer: 4) grill in the fire
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QID : 839 - Read the poem carefully and answer the questions that follow choosing the correct
alternatives.

The Song of Wandering Aengus
W. B. Yeats

| went out to the hazel wood,

Because a fire was in my head,

And cut and peeled a hazel wand,

And hooked a berry to a thread;

And when white moths were on the wing,
And moth-like stars were flickering out,

| dropped the berry in a stream

And caught a little silver trout.

When | had laid it on the floor

| went to blow the fire a-flame,

But something rustled on the floor,
And someone called me by my name:
It had become a glimmering girl

With apple blossom in her hair

Who called me by my name and ran
And faded through the brightening air.

Though | am old with wandering
Through hollow lands and hilly lands,
| will find out where she has gone,
And kiss her lips and take her hands;
And walk among long dappled grass,
And pluck till time and times are done,
The silver apples of the moon,

The golden apples of the sun.

Where was the poet wandering?
Options:
1

2) river banks

) lands and hills
)
3) mountain tops
)

4) forests
Correct Answer: 1) lands and hills

Candidate Answer: 1) lands and hills
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QID : 840 - Read the poem carefully and answer the questions that follow choosing the correct
alternatives.

The Song of Wandering Aengus
W. B. Yeats

| went out to the hazel wood,

Because a fire was in my head,

And cut and peeled a hazel wand,

And hooked a berry to a thread;

And when white moths were on the wing,
And moth-like stars were flickering out,

| dropped the berry in a stream

And caught a little silver trout.

When | had laid it on the floor

| went to blow the fire a-flame,

But something rustled on the floor,
And someone called me by my name:
It had become a glimmering girl

With apple blossom in her hair

Who called me by my name and ran
And faded through the brightening air.

Though | am old with wandering
Through hollow lands and hilly lands,
| will find out where she has gone,
And kiss her lips and take her hands;
And walk among long dappled grass,
And pluck till time and times are done,
The silver apples of the moon,

The golden apples of the sun.

vinitWhy did the poet go to the hazel wood?
Options:

1)

2) because there was a fire in his head
3) to meet friends

4) because his head was too heavy

to take a walk

Correct Answer: 2) because there was a fire in his head

Candidate Answer: 2) because there was a fire in his head

QID : 841 - What should a teacher do to promote cooperative learning in social science
classroom?

AFITR SRIFQ 659a86a AFRIC IR YoIaa IR F68 IVQ /'Sl FAR! AGG?
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Options:

1) Engage students in debate and discussions
219Q §0Q I9° ACRSRA FGC 20

2) Provide various source for project

Ja68a QI G6R A2 AARAUL R0

3) Give individual task

Q03 QI G2g

4) Divide the class in small groups

FLY 6916 6816 NEQ WG FQG

Correct Answer: 1) Engage students in debate and discussions
219Q §07 I9° ACRRNA FGC 20

Candidate Answer: 1) Engage students in debate and discussions
219Q 807 I9° AR FGC 20

QID : 842 - What is most appropriate use of end-of the text question in social science book
chapters?

Q¢ ARG TR YRR IO YIQ 6886Q AQ0IQ RAYD LI 2U6S?
Options:

1) To identify the important questions

99994 9996w 580 *aal AR

2) To assist teachers to summarise the chapters

2YOIFR VY 2R60 FARa ATIAG KGRI AIR

3) To enable students to understand and express in their own words
Ja1e1a 010 Geg Kall QIR Y& g1 @84S AR ALE 629

4) No option is correct

6a19d Qag 20w g6L

Correct Answer: 3) To enable students to understand and express in their own words
JR121Q 0IQ HFY K2l YINRI 9e° Rl @A AIR AV 624

Candidate Answer: 4) No option is correct
6@16d Sag 0@ g6L

QID : 843 - Which of the following objective is most appropriate regarding assessment in social
science?

FANYE FUAGYERR F1U6Q 6966 ANITR FRIAQ FRIAR A AQOIQ RAYS?
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Options:

1) To motivate students by giving marks
/90 60a 911 Age QA AR

2) To check student’'s memory level
Jaighe 96 2a a8l *aal AR

3) For comparison between students
RIS F1IER 9RF FARI AIR

4) To encourage students

da1eg 02120 *ael AR

Correct Answer: 4) To encourage students
JR1dig QAT *8Ql AR

Candidate Answer: 4) To encourage students
Jalgig @ade *dal Al

QID : 844 - In social science classroom, a teacher wants to assign a project on “Partition of India”
based on primary sources. Which of the following is not a primary source?

AR VIR 695261, 764 99 gl2fia A2Q AE6Q "ARCR AFTIF" FTLER @ gag Ad AAlq
QIRIR| FYAYE 699G glkfia AY 9627

Options:

1) Newspaper archive
QUL QISR

2) Novels

QAL

3) Autobiography
AR

4) Oral history

675 RGRIQ

Correct Answer: 2) Novels
QAL

Candidate Answer: 2) Novels
QAMIK

QID : 845 - Which of the following is the most appropriate approach to develop an understanding
of “Democratic Institution”?

"IEoIaR gERIR" ARldg 9UIRSI AR HFA 6296 A50IQ AAYS ARI?
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Options:

1) To provide national level examples

RN LAQ KYNLAS U =l

2) Introduce harsh realities to students

JR1gI1Q AR RE0IQ FIYFTIQ ALY KAQ!

3) Provide examples of realities with ideal situation
28 A6EG 26 QIYITIA RQIFAE AR KaQl

4) Describe ideal situations

28 9REEG Qda! @dal

Correct Answer: 3) Provide examples of realities with ideal situation
2108 OGEC AT0 QIYITIA AQIFAS AR KAQ

Candidate Answer: 3) Provide examples of realities with ideal situation
28 O6EC A2C QIYITIA RQIFAE AR *aQl

QID : 846 - If a teacher provide some clues to students and ask them to assess their projects on
the basis of those clues, then which of the following assessment has been adopted by the
teacher?

98 6a19d SR JBILIQ @8 ARG IR K08 I9° 620 02gFR0 ARER GI gREYESR RO @RSl AR
Q28 , 696Q G 64 RNAG TR FIA Y216 62RE?

Options:

1) Summative assessment
/Y PIee

2) Peer assessment

deia gl

3) Self assessment
hlel

4) Formative assessment
FoRFRe gIae

Correct Answer: 3) Self assessment

9 9gee

Candidate Answer: 2) Peer assessment
dza qglae

QID : 847 - In order to overcome the problems related to social science teaching and learning
process, the curriculum of social science should be

AR FRIAQ AOYRIR 9e° FHAIQ 9Rel AHPe AAYIFFR FA6Q AIFIFR FRIFQ AIQEAT 693l
A3
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Options:

1) comprehensive

Qloe

2) based upon gender concern

PTG QYT IR AR R

3) Both comprehensive and based upon gender concern
Q09 QIIR IQ° REIFIE AQT RUQ & F6Q

4) No option is correct

6163 Qag A0@ geL

Correct Answer: 3) Both comprehensive and based upon gender concern
Q09 QIR I9° AGIFIC AYT RUQ & F6Q

Candidate Answer: 3) Both comprehensive and based upon gender concern
Q09 QIIR I9° AEIFIE AYT RUQ & F6Q

QID : 848 - Which of the following is an appropriate reason for assessing students through art in
social science subject?

AR GRIFQ FTAER JFARI ARYAER FVIR RINAA B9 AR FYER 6796 RAYS FIRE?
Options:

1) It makes it enjoyable

@l 2GR JQIe Q6Q

2) It provides an opportunity for personal interpretation of concepts.
92l INGIGRY QBAG QIY @8R! QIR IR F6QIT 9RIF K6

3) It improve student’s artistic ability

gl 89121Q RRINS AVG! ARG F6Q

4) No option is correct

6a19d Qe 20w g6L

Correct Answer: 2) It provides an opportunity for personal interpretation of concepts.
N2 UIRNIYER RB90 QY KR! QIR 9@ 6T JRIF K64l

Candidate Answer: 3) It improve student’s artistic ability
gl JFIUIQ 9RIAR QY0 A0 R6Q

QID : 849 - Which of the following is not a challenge during social science teaching and learning
process?

AAIFR FRINQ AI0YRIR IG° FHAIQ JFC ATAER FIRYG 629 & GRS 6272
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Options:

1) Uncertainty of objective
QEWYLIRC!

2) Unavailablity of trained teachers
Joide d8eq 2GR0

3) Sufficient tools of evaluation
gieea adig Qe

4) Lack of instructional material
SRR QAR ARUQ

Correct Answer: 3) Sufficient tools of evaluation
RIeeq adig Qi<

Candidate Answer: 3) Sufficient tools of evaluation
qgIeea adig A<

QID : 850 - Which of the following is correct about social science?
AR FRIQ AHFEQ I 6896 A0R?
Options:

1) Social science is not concerned with diverse concern of society
AAIFR GRIG AAINER F0R A6 AR AQY G6L

2) It doesn’t emphasise on homogeneity

42l ARIGINCIR AR @ I |IF

3) It lays foundation of analytical and creative mindset

2l 56484198 19 AR AIRdecIa @& Qs

4) It is a subjective discipline

QI @ ST 5l

Correct Answer: 3) It lays foundation of analytical and creative mindset
2l 36484198 19 Ieadn AIRdecia @& Qs

Candidate Answer: 3) It lays foundation of analytical and creative mindset
2l 36484198 19 IaadIn AIRdecIa @& Qs

QID : 851 - Ziauddin Barani was a chronicler of which of the following century?

FARRIAAIF FIFYC 699 F0IN1Q AFAARIA Y6R?
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Options:

1) 12t century
12 0@
2) 13" century
13 9o
3) 141" century
14 9O
4) 16" century
16 90

Correct Answer: 3) 14" century
14 do@

Candidate Answer: 4) 16" century
16 do@

QID : 852 - Which present day Indian State was known as Gauda in the past?

609 QO7IR AADIY QG UVIBEQR 691G FIFIER URATES 2Jem?
Options:

1) Maharashtra
ALY

2) Gujarat

oS

3) Madhya Pradesh
RI9EE

4) West Bengal
ARG

Correct Answer: 4) West Bengal
ARG

Candidate Answer: 4) West Bengal
AAQeT

QID : 853 - Which of the following were called ‘samantas’ during seventh century?

Q99 9GIR1Q FIRHEYLRR FIEA QLG "ANS" QLI AIQYMI?
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Options:

1) Petlytradors

6I0R QI

2) Bonded labour
2599 gfie

3) Big landlords

Q9 TR

4) Artisans or craftsmen
QAR Q1 Fig1

Correct Answer: 3) Big landlords
Q2 QR

Candidate Answer: 3) Big landlords
Q9 T

QID : 854 - The struggle of which of the following is called as “tripartite struggle” by the
historians?

7910 699 A°gIAg ABLAATRAET "GAYI A°GIF" QIR ARTE AQ FERE ?
Options:

1) Chauhans, Gahadavalas and Chalukyas

601212, JLRIAM I FIEmIRY

2) Gurjara Pratihara, Chalukyas and Pala rulers
IRl 9ELIR, SIEMRY 1&° AIR FIAKGE!

3) Rashtrakuta, Chauhans and Chalukyas

QULQAI, 6012194 I9° QIRQ

4) Gurjara-Pratihara, Rashtrakuta and Pala dynasty
GlG?IQI—g@QIQ, QUEQEI NQ° diM QUGS

Correct Answer: 4) Gurjara-Pratihara, Rashtrakuta and Pala dynasty
JRIA-goeIa, AIEqe! ¥e° iR QIFS°4

Candidate Answer: 2) Gurjara Pratihara, Chalukyas and Pala rulers
JeIql 9ERIQ, SIEMAY N9 IR SIAKGIE]

QID : 855 - Which ruler Constructed a new garrison town named siri for his solders?

629 9IAe GIFa 630w IR §oF FEQe A2q da HAIg adeem?
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Options:

1) Ibrahim Lodi

QAT 6RG

2) Muhammad Tughlug
FeIRe eANS

3) Alauddin Khalji
ARQER GG

4) Ashoka

2edli@

Correct Answer: 3) Alauddin Khalji
ARNQER SRG

Candidate Answer: 4) Ashoka
2edll@

QID : 856 - Kingdom of Garha Katanga was associated with which of the following tribes?

QAIFIFY QLI FITEH QAUNYE FIRHS 609 AARITQ ATG 9§07
Options:

1) The Ahoms
2161

2) The Gonds
69l

3) The Garos
Qe

4) The Kochs
6@l

Correct Answer: 2) The Gonds
69l

Candidate Answer: 3) The Garos
Qe

QID : 857 - Which national leader called “untouchables” as Harijan?

676 FIV1A 6201 TG QIT6R "AYY" 6AIM QRIAN ?
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Options:

1) Dr. B.R. Ambedkar
218 .21Q. ZICYIR

2) Sardar Patel
LI AETMm

3) Jawaharlal Nehru
FLANIM ERLQ

4) Mahatma Gandhi
AL1€) Qa1

Correct Answer: 4) Mahatma Gandhi
1216 Q1

Candidate Answer: 2) Sardar Patel
QI 6T

QID : 858 - During which national movement, nai-dhobi bandhs were organised by the
Panchayats to deprive landlords of the services of barbers and washermen?

604 Q1014 2GR ATAEA, VBINCER FFAACNER AR IF° CUIQI AIRG 62Q! o QB QAR A1 FlR-

SIS 9 Q TICAUFY FALEM?
Options:

1) Swadeshi Movement

6Qd1 2IcRINe

2) Non-Cooperation Movement
2QeedIol ZIeLINe

3) Paika Rebellion

AR I6QIL

4) Quit India Movement

QAL LN IR

Correct Answer: 2) Non-Cooperation Movement
2QLedIdl e IR

Candidate Answer: 3) Paika Rebellion
AR I6QIL

QID : 859 - Who is responsible for introducing Mahalwari settlement in India?

QG ARG F6RINY JRGRA IR QI G ?
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Options:

1) Thomas Munro
calielld (@eQl

2) Holt Mackenzie
2R GI6Res

3) William Bentick
QEEA 627

4) Lord Cornwallis
0 ARBAIRA

Correct Answer: 2) Holt Mackenzie
R QI6eas

Candidate Answer: 4) Lord Cornwallis
PG FRBARY

QID : 860 - Ain-i-Akbari book was written by

AR-2-ZIRIIQ QES emeeeml

Options:

1) Akbar
INIQ

2) Abu’l-Fazl
A A-TER
3) Birbal
QAIM

4) Jahangir
RILIGMQ

Correct Answer: 2) Abu’l-Fazl
AY'R-TFIR

Candidate Answer: 2) Abu’l-Fazl
APR-TFIR

QID : 861 - ‘Stri PurushTulana’ is a book authored by

RIE K @ 9101 05 9@ QT
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Options:

1) Pandita Ramabai
Q80 QAR

2) Tarabai Shinde
FRICIR dee

3) Savitri Phule
AUFST g6

4) Sarojini Naidu
ACAGH QIRG

Correct Answer: 2) Tarabai Shinde
QoI dee

Candidate Answer: 3) Savitri Phule
AUFST g6

QID : 862 - Raja Ravi Verma was a

QS 9F Fll @68l a6l
Options:

1) painter
oedg1

2) writer
emsia

3) weaver
QEIRR

4) sculptor
)

Correct Answer: 1) painter
oQag1

Candidate Answer: 1) painter
Godig!

QID : 863 - In which year did Ahmedabad mill strike take place?

21209112 fiR 696 9UQ 2A0IR FRER?

Correct Answer: 3) 1918
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Candidate Answer: 2) 1920

QID : 864 - Which of the following is called the ‘house of the people’ in Parliament?
A6 6996 AL ‘FR0IR AN’ el 972
Options:

1) Rajya Sabha
QUZAR

2) Lok Sabha

EmIadwl

3) Cabinet

aaQel

4) No option is correct
6a19d Qag A0@ g6L

Correct Answer: 2) Lok Sabha
emladwl

Candidate Answer: 2) Lok Sabha
Mm@l

QID : 865 - Which of the following does not come under the Union List?

3R 62R6 AT9 SRl 219S 26 FI@?
Options:

1) Railways
N

2) Air Force
QIR QIERT
3) Telephone
6oMETI

4) Fisheries
ey

Correct Answer: 4) Fisheries
ay

Candidate Answer: 4) Fisheries
QY

QID : 866 - Which of the following is not a Directive Principle of State Policy?

A48 6996 QIR F1FFIRIQ Feadial 16 Q6L7?
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Options:

1) Separation of Judiciary from executive

ad121 019 A9IA FQIF YANIRRS KRG

2) Organisation of village panchayat

Qe ALILPER A°T0R /&

3) Uniform civil code for the citizens

QAERR AR 2ee IR 6RIQ

4) Protecting the sovereignty and unity of our country
2Iel 629Q AL IL° IReIq ATl ARS!

Correct Answer: 4) Protecting the sovereignty and unity of our country
2I¢ 626 AFELNNG 9e° Ia3lq QA AAS!

Candidate Answer: 3) Uniform civil code for the citizens
QAR IR 26 dee 6QIe

QID : 867 - Article 18 of the Indian constitution deals with

QLT AAJIFQ UQER18 Q AIFEQ AHRSI
Options:

1) abolition of untouchability
g6l SemId

2) equality before law

IRAQ IFeq el

3) abolition of titles

S1oQ G99

4) protection from arbitrary arrest
AIRLIE JeTeld OIQ adl

Correct Answer: 3) abolition of titles
SIoQ 899

Candidate Answer: 1) abolition of untouchability
QYo Gemid

QID : 868 - Who is considered as the ‘Law officer of India’?

‘QUA0A QR KNG @ FEROR! FQE?
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Options:

1) Comptroller and Auditor General
FAUAR 9Q° 12l FAIRQIR

2) Attorney General

2Ie% 62916a%

3) Union Law Minister

60919 2IRRCIF1

4) Judge of Supreme Court

qge 6RI6Q Golae

Correct Answer: 2) Attorney General
250 687160%

Candidate Answer: 4) Judge of Supreme Court
ge 6RI6Q Golae

QID : 869 - Naveen Patnaik who became the chief minister of Odisha after the election of 2019
belong to which political party?

2019 oga GQI6R 96Q 6341 YR A1e JFAIAR 69 ARCTOR ARQ ALLS?
Options:

1) Bhartiya Janata Party
QIe01a 896! 9IS

2) Biju Janata Dal

Qg 990l @@

3) Indian National Congress
QALY RN @°694

4) No option is correct
6a19d Qag 20w g6L

Correct Answer: 2) Biju Janata Dal
ag @90l @@

Candidate Answer: 2) Biju Janata Dal
Qg 996l oR

QID : 870 - In the elections to LokSabha, how many seats are allotted to Odisha?

6RIRARI FAIERER BEEIR 6R60IT AR AR FIeE 29?
Options:

1) 24
2) 22
3) 21
4)19

Correct Answer: 3) 21
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Candidate Answer: 3) 21

QID : 871 - Aspects of Geography should be taught keeping in mind the need to inculcate in the
child

QTR FU6QYE ABIFR AUICAUTHS FARIQ FEUFHIASIQ K2l 86 OF T6IAS /G |
Options:

1) a critical appreciation for conservation of environment
AG69E LATIQ AR IRG AFUERIFR!

2) inevitable aspect of social reality

AAIFR ALRGIQ G GG

3) about natural disaster in the country

62649 9I96a 96419 AARER

4) No option is correct

6@16d dag A0@ g6L

Correct Answer: 1) a critical appreciation for conservation of environment
G694 VIR AR IRE ACNERIOER!

Candidate Answer: 4) No option is correct
6al9d Sag A0 gew

QID : 872 - In Geography, learning should involve visits to

Q6QIREQ, JYAIQ AR Q J6QdIe 950 629l AT
Options:

1) Museums

A°GRIRA

2) Monuments

=zalel

3) Both Museums and Monuments
QA A°YLINS NQ° %l@%?l

4) No option is correct

60193 Qe 20w g6€

Correct Answer: 3) Both Museums and Monuments
Q9E GRS 9° 9L

Candidate Answer: 3) Both Museums and Monuments
QUIE A°YLIND: NQ° %@%Q

QID : 873 - In Geography, students may be asked to explore the

Q6aIRea JaIEia AQANIQ @AQIQ 92 AR A6
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Options:

1) local surrounding

ARG A

2) local skills and materials

I @RYG NQ° QUXQE!

3) observe the activities of communities
AIQAR FARRIT ATERVE FGS!

4) All options are correct

A0 Sag A0Q

Correct Answer: 4) All options are correct
A0g Sag A0Q

Candidate Answer: 4) All options are correct
A08 Gag A0

QID : 874 - Which of the following activities can be taken up by students while learning
geography?

I. Student may be taken to visit nearby museum

Il. Students can be encouraged to watch the night sky

lll. Students can be taken to visit historical monument

Q6TIR FYLIQ ANUEQ FPRYS FAURRIAER FAIANER F2E @R ARG ?
. SQIelg ANy CILARAG 6T

II. FRIginieg QIE RIS 69YRN6R QLG FAURASK |

lIl. SgiEhineg aPeIde 9o3aG0 6agel AR RaIKIR AI6al

Options:

1) Only land Il
6RQe | Q° I

2) 1, 1land I

I, 11 ge° 1l

3) Only Il and 1lI
6@a@ 11 ge° 1l
4) Only I and 1l
6@ 1 ae° Il

Correct Answer: 2) |, Il andlll
[, 11g@° I

Candidate Answer: 3) Only Il and lll
6@Qq 1l e I
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QID : 875 - What kind of activities can be done outside the classroom while teaching geography?
I. Field Trips
Il. Surveys

Q69IR F6HURR AFILL 6HTRVER QIR 626 URIR FAIRIY IR AIR AIER?
. QY QI
1. Q6@

Options:

1) Only |

6w |

2) Only Il

6w Il

3)Both land Il

| 9Q° Il QUi

4) No option is correct
6a16d Sag 0@ g6L

Correct Answer: 3) Bothlandll
[ 9Q° Il Q@0

Candidate Answer: 1) Only |

6Qaw |

QID : 876 - is an order of behaviour and the process of extending an idea into text.
_ 620 ZIFdIa 991 N9 R MIQ4ITER dIQ AIRE @QQIQ 9g9l|

Options:

1) Discourse
gooe

2) Semantic

aRIgie

3) Pragmatic
atallat=

4) Syntactic

Qea

Correct Answer: 1) Discourse
geoe

Candidate Answer: 2) Semantic
aRIgR

QID : 877 - Teaching aid in social studies helps in illustrating natural phenomena like

ANTR YA 6926Q VIR AQIAG! Q Rl JI9Ee 29RIq 56 @AQl ARG Q6Ql
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Options:

1) volcano

eleIATA

2) rain

Q8

3) earthquake

afias

4) All options are correct
A0 Sag A0Q

Correct Answer: 4) All options are correct
A0 Sag A0Q

Candidate Answer: 4) All options are correct
A08 Gag A0

QID : 878 - are helpful in reinforcing students learning when there is difficulty in creating
real atmosphere.

geoe a86d GaIReq agal 626n ARILIR JYRIR 6996Q IB4IRINR6R AR
Options:

1) Teaching Approaches
98 98%

2) Teaching Aids

SRS ALY

3) Teaching Remedies
To° oI

4) Diagnostic Teaching
QlaleaIde 56°

Correct Answer: 2) Teaching Aids
SR8 ARG

Candidate Answer: 3) Teaching Remedies
§o° oI

QID : 879 - teaching refers to a group of teachers working together in order to optimize
resources, interest and expertise.

IR 2 AR, 2GR ° FVSIQ AZGRRAER IR IR0 I KFAIAR TV I |

60/71


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

10/8/2019

Odisha Teacher Eligibility Test
Options:

1) Team

Q¢

2) Individual
goeq

3) Supportive
dLlg@

4) Guided
ARG

Correct Answer: 1) Team
Qe

Candidate Answer: 3) Supportive
L@

QID : 880 - is a sequence of activities that involve a group of students to study, do
research, use their experience, skills in performing the given task assigned by teacher in
Geography classroom.

PARRIAFFR 92T 90 QI LT F6aq FRITIQ ARIEAIR, QTSI AU, FIQ LRRS!, RETIFR
6980969 S96aQ QIal Jea AP A AR @I ITINR AIFER FGS!

Options:

1) Survey

Q6

2) Project

ges

3) Both Survey and Project
QA6 I9° gag Q0

4) No option is correct
6163 Qag A0@ geL

Correct Answer: 2) Project
gee

Candidate Answer: 1) Survey
68

QID : 881 - Which two elements combine to form quartz?

6RIUTE FGORER 679 QA6 RAIAIR YRGS §47?
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Options:

1) Silicon and iron
AN 9Q° UIRQR

2) Silicon and aluminium
ANQQ 9e° 2IQAFe

3) Silicon and oxygen
ARRR Qe 2F6RR

4) Aluminium and iron
2IPAFAC Q° 2R

Correct Answer: 3) Silicon and oxygen
ANRR 9Q° 2F6RR

Candidate Answer: 1) Silicon and iron
ANRE 9G° 2IRQQ

QID : 882 - K, or Godwin Austin, the second highest peak of the world belong to

Kz Gl 9920e 237, 39a @016 A6a15 6 Q 229
Options:

1) Purvanchals

geise gee

2) The Karakoram range
Q@AUERIAUCT QS

3) The Hindukush

@994

4) Andes

e

Correct Answer: 2) The Karakoram range
@AUERIAUCT QU

Candidate Answer: 1) Purvanchals
gRIse gee

QID : 883 - The country with which India shares its shortest border is

699 69900 TG QAL P10 A°FYLE Q1A QUG K6Q FIR! 62 |

62/71


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

10/8/2019 Odisha Teacher Eligibility Test
Options:

1) Pakistan
o[ty

2) Bangladesh
Q°@IcQd

3) Bhutan
QOIR

4) Afghanistan
ATFANFAR

Correct Answer: 4) Afghanistan
ATFAR

Candidate Answer: 2) Bangladesh
Q°@IEQE

QID : 884 - Which one of the following is a fibre crop?
IRGO 6296 IRE 0F FIS1 TAR?
Options:

1) Rice
i@

2) Maize
1@l

3) Wheat
319

4) Jute
6QIe

Correct Answer: 4) Jute
6QIe

Candidate Answer: 2) Maize
el

QID : 885 - Which of the following planet is called the “Red planet”?

FINYR gaa @45 "R ge" g2l §97?
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Options:

1) Jupiter
QeeG9e
2) Earth
Qeef

3) Mars
2N

4) Neptune
629979

Correct Answer: 3) Mars
Clere

Candidate Answer: 1) Jupiter
Q269

QID : 886 - Light year is a unit of

gleale oF Q QRR

Options:

1) Mass
QYR

2) Temperature
QARG

3) Pressure
Qld

4) Distance

qag

Correct Answer: 4) Distance

g

Candidate Answer: 1) Mass
QAR

QID : 887 - The instrument that is used to measure the intensity of an earthquake is

QAR%6Q G196 JRIA ARSI IR AR5 9Re6 29 Gl 629 |
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Options:

1) Richter scale
AQQ 6@

2) Merecalli scale
AIAR 624

3) Seismograph
QOHRR(6ANEIIPICT)
4) Barometer
qleqIfica

Correct Answer: 2) Mercalli scale
AIAR 62

Candidate Answer: 4) Barometer
QleQIfiea

QID : 888 - Great Victoria desert is found in
696 QEQYQQ AQRE 60 @ ardl
Options:

1) Africa
9]

2) Australia
aeamell

3) USA
ISR

4) Russia
Qdal

Correct Answer: 2) Australia
2egmall

Candidate Answer: 4) Russia
gdell

QID : 889 - Which one of the following is a depositional landform?

3O F609G ARG MYIGTH?
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Options:

1) Sinkhole
deeaim

2) Gullies
gRING

3) Cave

Qe
4) Beaches

I Q@@

Correct Answer: 4) Beaches

I Q@@

Candidate Answer: 4) Beaches

)9 Q@

QID : 890 - Nomadic herding is practised in which of the following regions of the world?

2RI RIS 699 ABR6R AIIAR AR ARG §49?
Options:

1) Arid and semi arid
GV 9Q° I GR6Q

2) Hot and humid
AR e° 21G

3) Cold and wet

0lIg| 8 6R%|

4) Swamps

SRR

Correct Answer: 1) Arid and semi arid
GV 9Q° 2RI Y6

Candidate Answer: 1) Arid and semi arid
GV 9Q° 2RI GR6Q

QID : 891 - Shifting cultivation is known as Jhumming in which of the following regions of India?

RFIBQ FIFIFIQ VIAA FIRYE P4 ALREQ YT° QIR YATS?
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Options:

1) Central India
R ARE

2) Northwest India
QRQA-Y Qe

3) Southern India
R4 @Iee

4) North East India
Qa9 9 99e

Correct Answer: 4) North East India
Q89 9 9I9e

Candidate Answer: 2) Northwest India
RRQ-A8N ANE

QID : 892 - Which of the following crops is a cereal crop?
FARYG SRR F1-IEQ 696 AYLIOIE FAR?
Options:

1) Jute

619

2) Wheat
Q¢

3) Coffee

@

4) Sugarcane

211

Correct Answer: 2) Wheat
Q¢

Candidate Answer: 4) Sugarcane

2y

QID : 893 - Hindon river is a tributary of

FROR A1 QNPT S Q1

67/71


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

10/8/2019

Odisha Teacher Eligibility Test
Options:

1) Ganga river
Qlefl Q1

2) Chambal river
R Q1

3) Yamuna river
QR Q1

4) Mahanadi river
AL19Q1 @1

Correct Answer: 3) Yamuna river
QAR A1

Candidate Answer: 2) Chambal river
R 991

QID : 894 - The main mineral constituents of mantle are

AYAEQ R HEIP AARIRYER |
Options:

1) Silica — Alumina
el - 218!

2) Silica — Ferrous
AR - 60QQ

3) Nickel — Ferrous
Feam - 69

4) Silica — Magnesium
AnQI- gIoeadale

Correct Answer: 4) Silica— Magnesium
AnQI- gIoeadale

Candidate Answer: 2) Silica — Ferrous
dne! - 6aQ

QID : 895 - The gas that is found in abundance in air is

QIZEQ o aRcI86a 69 QIQ §F QN oI 62l |
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Options:

1) Oxygen

AG6ee

2) Carbon dioxide
QGG - QIR - AFIAL
3) Nitrogen
QRELERE

4) Helium

i olle]

Correct Answer: 3) Nitrogen
FIRETICRE

Candidate Answer: 1) Oxygen
Ugexq

QID : 896 - lonosphere is a part of

2I6ERIR2ARQ QRS 2er|
Options:

1) Mesosphere
6716122

2) Stratosphere
alegidea

3) Thermosphere
a6AIRARQ

4) Troposphere
F6aIF2AR

Correct Answer: 3) Thermosphere
aleAidaQ

Candidate Answer: 4) Troposphere
FeaIF2AR

QID : 897 - Low pressure is associated with

Faelg Q AIFEQ FED1

Odisha Teacher Eligibility Test
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Options:

1) Cloudy skies and wet weather
671612l 2lIRNS Q° BQ QAsiaIe

2) Clear skies and hot weather
JAFIQ ARG IL° FIQE AIEAIS!

3) Cloudy skies and hot weather
67192 2RI NQ° G aidiaie

4) Clear skies and wet weather
JAFIQ RIS I° BAIEAIC!

Correct Answer: 1) Cloudy skies and wet weather
691512l 2lIRNS Q° Ba Qs

Candidate Answer: 2) Clear skies and hot weather
JAEIQ AR IL° FQE AIEAIG!

QID : 898 - The temperate grasslands of North America are known as
QRQ ZICFNNIAQ ATHERIT AR 21960 QT

Options:

1) Praries

gaees

2) Savannas

il

3) Downs

QAgs 996 aegd

4) Velds
IS allale)

Correct Answer: 1) Praries
Y69

Candidate Answer: 1) Praries
3[AISE)

QID : 899 - How much area of Odisha is covered by forests?
BG9IQ 6060 LR ARIER QI AQL?

Options:

1) 1/2

2)1/3

3)1/4

4)2/3
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Correct Answer: 2) 1/3

Candidate Answer: 1) 1/2

QID : 900 - In which part of Odisha coastal plain is Chilka Lake found?
64 QAR ATRFQ @l 2°EI6Q TR@I 2@ AF AN?
Options:

1) Eastern
ge

2) Western
agial

3) Northern
QRAAZRIC
4) Southern
S

Correct Answer: 4) Southern
afe

Candidate Answer: 4) Southern
QR
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